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(1). The main point of the passage is**-.

(2). The passage deals mainly with:-.

(3). The title best expresses the idea of the passage is---.

(4). The main idea of the passage may be best expressed as--+.

(5). The passage is mainly concerned with---.

(6). The passage illustrates--+

(7). The passage makes clear that-:-.

(8). The main subject of the passage is that--.

(9). What s the main idea / subject / purpose /topic of the passage?

(10). The passage is about-+.

(11). The most accurate of the following statements, on the basis of the above
paragraph, is that---.

(12). The author’s purpose in writing this passage is-- .

(13). The paragraph could he entitled-- .

(14). The aim of the writer is to show that.

(15). Which of the following titles best sums up the wholc passage?

(16) . Which of the following best states the theme of the passage?

(17). The title that best expresses the idea of the passage is <+

(18). A good title for this passage would be-+- .

(19). A suitable title for the passage would be---.

(20). What does the passage mainly discuss?

(21). The author apparently asserts that-+-

(22) . The title below that best expresses the idea of this article is---.

(23). What topic is treated in this passage?

(24). The main idea of this selection may be best expressed as-+ .

(25). The key point/ The best summary is-*.
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Lacrosse, a sport once played by the North American Indians both for p]éa-
sure and as preparation for battle, continues to be played today and has recently
been gaining in popularity as a team sport in the U. S. and Canada. Although
- lacrosse in its original form was a wild and violent free-for-all with few rules and
no set time limits, the modern-day version has been much modified. An indoor
version cven exists. »

The objective of lacrosse is, as in all games, to score points. This is done
when the players of one team move a ball from the center of the playing field to
the opposing team’s goal. In doing so, players must not touch the ball with their
hands; it is moved by passing it or by means of playing sficks called crosses. The
crosses are something like short poles with a net pocket (called a “throat”) at one
end;a player carries the ball in the throat of his crosse as he runs down the field.
l A lacrosse team consists of 10 players:3 attack players, 3 middle field play-
ers,3 defense players, and a goalkeeper. All except the goalkeeper play opposite
players on the other team. A lacrosse field is divided by a center line, and each
team must keep at least 4 men in the defensive half of the field and at least 3 men
in the attack half.

A lacrosse game begins by having the 2 centers face each other in the middle
of the field; the referce then places the ball between their crosses and at the sound

of his whistle they each try 10 get the ball and move it down the field. A game of
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lacrosse lasts one hour. This time period is divided into four fifteen -minute por-
tions; the teams change goals after each period.

Lacrosse is an exciting, fast-moving game that is almost as fun to watch as it
is to play, and although more and more people are learning about it and playing it,
it deserves much greater popularity than it currently enjoys. ‘ '

What’s the topic of the passage? v
(A)Spotts in the U.'S. and Canda.
(B)The game of lacrosse. ’
(C)North American Indians.
(D)How lacrosse has changed.
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XSR A K i RER A i — 5 MR, 95 A B B — B, KR BRIE B H By
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10 MRA VAL SHIUEBLE B R T K AR R, S — B AR O AR BRE
B EE R WL, AR S % 48 (B) 0. 308 1 Eif
R AR ERIZ S

A0 SURE AR IR A PR B 0 30 ), T RO S B ) R SRR, %
EEAAIEIERTA W YRR L, RIEE CH BB AEERE , XX
B THEM AN, K xEN TR, FAHEEEAGHEXR WFHX R E
AT R R FIT RS RRAR, F AR & AR R
Bl (X — 77 ke R R RS R B B R H R LI, R B
AT AR AT RS A A0, DU o R L RSB RO, W R T AR B

& 2

A bus driver must answer questions while guiding a bus through heavy traf-
fic. All day long the driver answers the same questions without becoming angry.
Every few minutes a bus driver has to ask passengers to step to the rear of the

bus. In spite of traffic snarls and thoughtless passengers who cause delays, a bus

S



driver is expected to cover his or her route on schedule.
The title of the passage should be

(A)Heavy Traffic

(B) The Bus Driver

(C)A Bus Driver Must Answer Questions

(D)Driving a Bus is Hard Work _

X -G SRR R, KEANL AR SRS, $2
A RERNERERESHEER AT, E=00. SRILL
LHUEMERFIEETE. BTN RECHRAMBMEER T EiR,
MUERERREFANLE EER R, §a 5 HMiR0KE I LEREE
ENGI:PIEE MM 2 SCRANTATLAKE, S X ERR R E AN LEM ¥
e (D),
2. g%y
IR0 S 89 09 A (A8 1 H A IR ST, 50 8K % A 7 P R U ST B B TR

wRL L, SRR E A2 &, EW@%%%*%Z‘%E&EEX*&
Fl. MizMEERTRITENT L MHXENKENBY, TR EZHE
o REEIR ] K R T IR A SR M A BT BB AR
HETR, AT 19 1 2 SR 1 B 00 B 4 5 L4760 BT 45 0 8 SR RO DL 2
2.1 #MEFERREY RN TR .
(1). The author implies that--.

(2). It can be easily guessed that:+-.

(3). The author seems to be in favor of (against)+-.

(4). We can infer (assume) that--.

(5). We can learn from thé passage that--.

(6) .1t can be concluded from the passage that:-- .

(7). Which of the following can (not) be inferred from the passage?
(8). What does the article (passage) say about-+?

(9). The passage suggests that--.

(10). The author of the passage would most likely imply---.

(11). The author may probably agree with (support) --.

(12). An inference which may (not) be made from the passage is***.
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(13). From the last sentence we gather that -+,
(14). It can be concluded that---.
(15). The paragraph preceeding this passage probably states that-
(16). According to the author what does the sentence suggest?
(17) . The passage is intended to*--.
(18). The evidence in the passsge suggests that--.
(19).By---the author implies (indicates / suggests)that---.
(20). It can be concluded from the passage that:--.
(21).From the passage we can draw the conclusion that---.
(22).0n what aspect of -*+ does the author primarily concentrate?
(23). Where would this paragraph most propably appear ( be found)?
(24) . The 1one of the passage (author) may be---.
(25). The author’s purpose of writing the passage is **-.
(26). In the author’s opinion, **-.
(27). The author’ s attitude towards---might be---.
(28). Which of the following can best describe the attitude of the author towards
")
(29) . How does the author feel about-++?
(30). The author believes (thinks / suggests / deems)thai--.
(31). The author gives the impression that-+-.
2.2 MM EEE AL LN A HIBTAE S . R AL 9 R KR, (B 15
CHIDELE ENPAPEEP eI 3318 i AT AL B
OEAEXHEE KT L THREX;
O T HE A B 79 3R 4o f 40
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2.3 ARG EEGEU T ILAK M IEF A E SR, B m
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The New World to which Columbus came at the end of the fifteenth century
was not, as we are tempted to believe, a wholly savage and untamed place. The
people lacked some of the basics of European civilization. It is true, for instance,
horses were unknown to them, and they had never discovered the use of the

" wheel. But there were many accomplishments to offset such handicaps. In the po-
litical domain these original Americans, as early as the tenth century, were build-
ing mighty empires;in the realm of intellectual achievement, they developed a cos-
mographic science dealing with the constitution of the whole order of nature that

was far superior to that of Europe.
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It would be a mistake, however, to believe that the New World, as 4 Whole,_

was an oasis of civilization in the European sense of the term. America had many

faces, and to its conquerors it offered a variéty of aspects. Christopher Columbus,

when he went ashore on the island of San Salvador—one. of the Bahamas ~ was

greeted by the Lucayas, an agricultural and artistic people who typified the “noble

savage” of popular legend. The Spaniards, on the other hand, were shortly to-meet

a completely different sort of native: the ferocious cannibals of the Caribbean.

Such diversity is reflected in the history of the pre-Columbian New World, a his-

tory so complex that it has taken historians almost five centuries of study in order

to disengage its main lines.

1.

In the first paragraph, the author indicates that the people living in the Americ-
as before the arrival of Columbus were rather

(A)advanced in technology

(B)savage and untamed

(C)sophisticated politically

(D)inferior in intelfligence

. When the author says that “America had many faces”, he probably means that

the people

(A)were hypocritical .

(B)had a great variety of facial appearances
(C)were barbaric but wanted to be civilized

(D) were at different levels of cultural development

- Which of the following can most probably inferred from the passage about the

pre-Columbian history?

(A) Tt has been studied thoroughly recemlyv,
(B) 1t reflects a single line of developmer;t‘
(C) It has been a challenge to the scholars.

(D)It is centered on the past five centuries.

. The passage is mainly concerned with

(A)the benefits brought by Columbus to the New World

(B)the Americans before the arrival of Columbus



{C)the superiority of European civilization
(D)the weakness of the pre-Columbian civilization
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4.(B). BRTHEINENMRFRATL LM S BRER. &
WE A L ERWR. AL A LB R £ ), TR — &5
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1. Which of the following is NOT mentioned in the passage?
2. Which of the following aspects of -+ is NOT mentioned in the passage”

3. Which of the following sentences is NOT true?
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